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Answer 10 questions only.                                                           (1×10) = 10 
 
1. Truth table is possible in case of ---     a) A • B      b) P v Q       c) p • q     d) ~A 

 

2. Statement form is --          a) Av B         b) a ɔ b           c) p v q          d) P 
 

3. Truth table is possible in case of 

  a) proposition       b) sentence       c) statement form        d) compound statement 

 

4. (P • Q) ɔ(A v B)-- true because   

   a) P is false            b) P • Q is true          c) None of the two 

 

5. (p ɔ q) ɔ (p ɔ q)  ----is tautology because  

   a) p is false         b)  q is false            c) None of the two 

 

6. [(p ɔ q)•p] ɔ q is---       a) tautology          b) contradictory          c) contingent 

 

7. If S, P, M, are three terms in a Venn diagram how many zones do we get 

   a) 6 Zones           b) 8 Zones           c) 4 Zones 

 

8. If A is a conclusion in an argument both the premises must be  

   a) AA            b) AI             c) AE 

9. [(A•B) ɔ C]  means  

   a) (A and B) implies C        b) A and (B implies C)       c) None of the two 

 

10. Which  of the following is true--  

     “India wins  only if Pakistan doesn't participate and Australia loses”  --- 

a) I v~ P •A         b) I ɔ ~P•A        c) I ɔ (~P•A)         d) None of the three 

 

11. A singular proposition has    a) 2 parts    b) 3 parts     c) 4 parts 

 

12. Propositions are       

a) 2 in number         b) 3in number        c) 4 in number         d) None of the above 
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1. Truth table করা যায়  ----       a) A • B        b) P v Q        c) p • q          d) ~A 

 

2. বাক�াকার হল -------      a) A v B         b) a ɔ b          c) p v q           d) P 

 

3. Truth table করা যায় --- 

 a) বচেনর           b) বােক�র          c) বাক�াকােরর           d) Ʊযৗিগক বােক�র  

 

4. (P • Q) ɔ (A v B)   --সত� Ʊকননা   

 a) P িমথ�া                 b) P • Q সত�              c) ওপেরর দুিটর Ʊকানিটই নয়  

 

5. (p ɔ q) ɔ (p ɔ q)  ---- Ɨতঃসত� Ʊকননা  

  a) p িমথ�া                 b) q িমথ�া                c) ওপেরর Ʊকানিটই নয় 

 

6. [(p ɔ q) • p] ɔ q হয়        a) Ɨতঃসত�              b) Ɨতঃিমথ�া              c) আপিতক  

 

7. যিদ S, P, M,   Ʊভনিচেøর িতনিট পদ হয় তেব কিট ĴেকাŽ পাওয়া যােব   

  a) ৬ িট               b) ৮ িট              c) ৪ িট  

 

8. যিদ A Ʊকান যুি�র িসĆাĜ হয় তেব দুিট আŴয়বাক� হেব --      a) AA         b) AI         c) AE 

 

9. [(A • B) ɔ C] মােন  

  a)  (A এবং B) Ʊথেক C িনঃসৃত হয়      b)  A এবং (B Ʊথেক C িনঃসৃত হয়)        c) Ʊকানিটই নয়। 
 

10. নীেচর অনুবােদর Ʊকানিট সত� --  

 “India wins only if Pakistan doesn't participate and Australia loses” ------ 

  a) I v ~P • A            b) I ɔ ~P • A             c) I ɔ (~P • A)              d) Ʊকানিটই নয় 

 

11. ব�ি� িবষয়ক বােক�র        a) ২ িট অংশ               b) ৩ িট অংশ                c) ৪ িট অংশ 

 

12. বচন -----            a) ২ Ĵকার         b) ৩ Ĵকার         c) ৪ Ĵকার        d) Ʊকানিটই নয় 


